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BOOKLET A 

lnstructions to Pupils: 

1. Do not open this booklet until you are told to do so.

2. Follow an instructions carefully.

3. Shade your answers in the Optical Answer Sheet (OAS) provided.

4. You are not allowed to use a calculator.

5. Answer all questions.

Section Maximum Mark Marks Obtained 
___ w_.�, 

Paper 1 (Bookfet A) 20 

* This booklet consists of§. pages (including this cover page).
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Q1 Vol = 4.7 x 4.7 x 12.5 = 276.125cm³ 

Q2 Total paid = $0.55 + ($0.10 x 5) = $1.05 

Q3 Price for 4 cookies (Buy 3 get 1 free) = $1.80 x 3 = $5.40 
$39.6 ÷ %5.4 = 7 r $1.8 
$1.8 can buy 1 cookie 
Total cookies = 4 x 7 + 1 = 29 

Q4 Total for 3 games = 36 x 3 = 108 
Total for 4 games = 40.7 x 4 = 162.8 
Score for 4th game = 162.8 – 108 = 54.8 

Q5 EFB = 180 – 65 = 115° 
CFG = 180 – 41 – 90 = 49° 

Q6  7u = $1345 – ($75 x 3) = $1120 
1u = $160 
3u = $480 
Cost of table = 480 + 255 = $705 
Cost of cupboard = 160 x 4 = $640 
Difference in cost = 705 – 640 = $65 

Q7 BDC = 180 – 113 = 67° 
DBC = 67° 
BCD = 180 – (2 x 67) = 46° 
ACD = 180 – 108 – 46 = 26° 
BDC = 180 – 67 – 26 – 46 = 41° 

Q8 Cost of 1 pie and 8 muffins = $7 + ($3 x 8) = $31 
No of groups = $589 ÷ $31 = 19 

Q9 Let u be the stacked extra cup height 
8u = 4cm 
1u = 0.5cm 
11cm = 4u – length of full cup height 
Length of full cut height = 11cm – (4 x 0.5cm) = 9cm 
60cm – 9 cm = 51cm 
51cm ÷ 0.5cm = 102 
Total cups = 102 + 1 = 103 

Q10 Area of AFD = 0.25 x 16 x 16 = 64cm² 
Area of AFE = 64 x 2 = 128cm² 
Area of AGF = 128cm² 
Total area = (128 x 2) + (16 x 16) - 64 = 448cm² 
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! of height = 12 cm

� of height = (12-=-3) x 5 = 20 cm 
Amt of water needed to fill tank fully = 20 cm x 45 cm x 40 cm = 36 .e 

Total capacity of tank = 36 r + (12 x 45 x 40) = 57.6 r
No. of full bottles = 57600 ml -=- 350•ml = 164 R 200 ml 
Total no. of bottles needed = 164 + 1 = 165

1 basketball (B) = 1.5 footballs (F) 
SF + 3B = SF + 4.SF = 9.SF 
9.SF = $532
1F = $532 -=-9.5 = $56
1 B = $56 X 1.5 = $84
1 F + 1 B = $56 + $84 = $140

Total amount over new average = 3 x $102 - (3 x $72) = $90 
Extra $90 needs to be compensated by amount lesser than new average 
Difference b/w old and new average = $72 - $54 = $18 
No. of pairs of shoes under new average cost = $90 -=-$18 = 5 
Total pairs = 3 + 5 = 8

LCM of 4 & 7 = 28 
Group 28 muffins and 28 tarts as 1 group 
Cost of 1 group = 7 x $3 + 4 x $5 = $41 
No. of groups = $164-=-$41 = 4 
Total bought = 4 (28 + 28) = 224

100% -► $1320 
30% -► $1320 X 0.3 = $396

Laptop discount = $642 - $396 = $246 
change $246 

% discount = 
-

= 12.5% -

original ($246+$1722) 
1 
-
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Rate of A/min = 3 f 
Total rate/min = 12 f 
Rate of B/min = 12 e - 3 f = 9 .e 

Fraction of magnets left = : x ; = 
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,1u = 16 
! 48u = 768
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